H AG S® A Playground Product

Tow I
 E—

A ° E@ Playﬁower inc Lillie Expansion module w Kiddy Revi
HAGS' e SWe7210 wo2iz3 e



1 43-04818 4x CAP 10, @17x14,5 mm 0.01kg 13 8008371 @ 10x  Screw, 1SO4017-M10x25-8.8 0.0263kg
2 43-04820 4x  Cover 10, @25x12mm 0.00kg 14 8050050 18x  Washer 1SO7089-10.5x20x2 0.004kg
3 8008796 2x  Nut, Fujilok-M10-8-RingA2 0.011kg 15 8071044 ' 4x  Washer ISO7092-10.5x18.1.6 0.002kg
4 8042810 16x  Nut, ISO7042-M10-8 0.012kg 16 43-04821 2x  ©10,5x34x4 mm 0.00kg
5  SW20172 4x 0.02kg 17 SW32687 / 2x 0.83kg
6  SW42011 @ 2x 300 x 300 X 60 mm 12.42kg
7 SW68047 — 1x 12.22kg
8  SW64307 N 1x 20.74kg
9  SW31746 1x  Kiddy R&T 5.15kg
10 SW75534 1x 25.66kg
(s17 (s19 1 (s20 : )
|
1 SW84435 2x 0.94kg @ ’ 0‘ 5 :
7] 6] '
7] ;
12 8008383 2x  Screw, 1S04014-M10x60-8.8 0.0479kg 1 X 4
\ 1 \ 4 I )
H G SO EQ Pla@ngW6r inc Lillie Expansion module w Kiddy Revi
A agds ags.com
vvvgvv.hagsg.com SW87210 14/02/23 2/9




D

1.649 m
(64.92 in)

1.669 m
(65.711n)

1.275m
(50.19 in)

»
P>

>0.40 m
>15.75in

]
Ll Pl

el
3|
o|&
o I |
A [
P 1.55 m P 1.49m o
- (61.10in) b (58.70 in) -
P 221 m -~
- (87.01in) g
Lillie Expansion module w Kiddy Revi
14/02/23 3/9

© Playpower inc

®
HAGS' rocresscon p—



143 m
(56.30 in)

A
\

1.75m
(68.90 in)

2.00 m 2.00 m
(78.74 in) ) (78.74 in)

\

© Playpower inc Lillie Expansion module w Kiddy Revi

HAGS' rzosenegscom SW87210 14/02/23 4/9

www.hags.com



» © Playpower inc
HAGS hags@hags.com
www.hags.com



6/9

14/02/23

module w Kiddy

Lillie Expansion
SW87210

» © Playpower inc
HAGS \?/avgvsvhgggcomm



719

14/02/23

module w Kiddy

Lillie Expansion
SW87210

gs.com

© Playpower inc
hags@hags.com
www.ha

HAGS



© Playpower inc

o C ; Lillie Expansion module w Kiddy Revi
HAGS o SW87210 14/02/23 8/9



» © Playpower inc Lillie Expansion module w Kiddy Revi
HAGS' e SWe7210 wo2iz3 oo



